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Attempt Five questions including
Question No. 1 which is compulsory.

All questions carry equal marks.
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1. Answer any four of the following briefly :
(a) Austin’s positive morality
(b) Socially immanent sanctions

(c) Static societies according to Sir Henry Maine
P.T.O.
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(d) Jural postulates.

(e) Stammler’s natural law with a variable content
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2. (a) Explain Austin’s theory of sovereignty.

(b) There is growing resistance under a rebel leader
in country X. The rebels form a government which
has more or less the same support as that enjoyed
by the lawfully elected government.

Does this country constitute an ‘independent
political society’ described by Austin, and can
sovereignty be located in such a country ?
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3. (a) According to Kelsen the grundnorm provides
unity and validity to the legal normative order.
Elaborate.

{b) In a military takeover, the army removes the
President of country Z and the General declares
himself as the Supreme Administrator. He
abrogates the Constitution and a new Constitution
is promulgated. The general gradually begins
receiving popular support.

Can we say that a valid, legal and new order has
‘come into existence in this country ? Decide by
bringing out the differences between Kelsen’s

concepts of validity, effectiveness and legitimacy.

(%) FeT B IFER AW @ Bt yeds wmen @)
ww aw fRftmma e w3 gem iiw

(@) Z%ﬂﬁ%mw-mﬁ%m%m%wﬁaﬁw
X R T v IR s R e i @
® 3T 2| 95 GRUE ) PRgw w39 2 qwn wa Gfen

wedd & R war 21 wue @R W R -oR

FAETET e 1% B W 2
P.T.O.



6351 4 _
T B wE 9% B & ww 2w X vw R, e
A A TaEd iRaed F an g 2 ? Dew A Rftew,
yafer i ffr-wfy N dwerns @ S Fr=ae
& gad wa gY Rfvea #ife

4. (a) What is the difference between primary and
secondary rules according to H.L.A. Hart?

{b) Distinguish between the ultimate rule of recognition

and the supreme criterion of validity.
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5. Explain SAVIGNY’s theory of law. Do you consider
that only a law which reflects the spirit of the people
can be considered ‘law’ in a legal system ?
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6. Describe Roscoe Pound’s theory of ‘balancing of
interests’ and ‘social engineering’. How far do you
consider his theory relevant in India ?
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7. Ten miners are trapped underground due to the
collapse of a mine shaft. Rescue workers manage to
send down a rescue carriage that can only carry six
person, and which can only make one trip to the
surface before the falling debris cuts off the mine
from the surface completely.

A fight breaks out underground over which 6 miners
will use the rescue carriage to safety. Six of the
healthy miners overpower and kill the weaker and
older miners and manage to reach the surface safely.

They are charged with the murder of the remaining
four miners. Based on your reading of Prof. Lon
Fuller’s Speluncean Explorer’s case, decide if
they should be convicted or acquitted on the above

mentioned facts bringing out your view of the nature
and function of law in society.
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8. What are the reasons, in your opinion, that led to the
revival of natural law in the twentieth century ?

Discuss with special reference to the theory of justice
as propounded by John Rawls.
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